TEEH

SE2r . TRIER : SRR EEIEAE)T=3cm “m 1.00m?
THRIEE HAA | B | B | BE | BB e
SEERTE m? 1.00 720 720
BIOEM m? 1.00 50 50
MmEAEE B2 1.00 80 80
1: 3KRIDEE m?3 0.03] 3500 105
WRITHE m? 1.00 250 250
B2 TH(ZTERER) =% 1.00 5 5
m- B & Ef: 1210 7T
TRRaM
SE8r . THRIER : SRR EEIEAE)T=6cm B8fi7 . 1.00m?
TRIER mEB | Ba | B2 | BE | A6 s
SEERTE m? 1.00 620 620
BIOEM m? 1.00 60 60
MiEAE b2 1.00 80 80
1: 37J</)E/L‘§rz m?> 0.03| 3500 105
T m? 1.00 250 250
EEEIH(EWE&?E%%) B 1.00 5 5
m- B & Ef: 1120 7T
TRRaHE
g . T2IER  oFRR T I IEAE)T=6cm BSfi7 : 1.00m?
TRIER mEB | Ba | B2 | BE | A6 s
SEERTE m? 1.00 620 620
BIOEM m? 1.00 60 60
MiEAE B2 1.00 80 80
?ﬁﬂiﬁjf‘:’/“ m?> 0.04| 1250 50
R m? 1.00 150 150
EEEIH(EJEBEEEHE%%) =% 1.00 10 10
m- B 8 &t 970 TG
TRRaE
g . TRRIER SRR EMYIEAE)T=8cm BEfY : 1.00m?
THRIER wAB | Ba | B2 | BE | A6 s
SEERTE m? 1.00 630 680
BIOE M m? 1.00 70 70
MiEAE B2 1.00 80 80
TR m?> 0.04| 1250 50
WRIE m? 1.00 150 150
SETH(ZUERER) =% 1.00 10 10
m- B & &t 1040 TG

850

760

760

830



TEEH

e . Ti2IEH  SBRERTE@FUIEAE)T=10cm B : 1.00m?
TRIER HAA | B | B | BE | BB e
SRR TE m? 1.00| 1660| 1660
BIOEM m? 1.00 80 80 1820
MiEAE B2 1.00 80 80
L) m?3 0.04| 1250 50
WRIE m? 1.00 150 150
B2 TR(EUIMERIER) = 1.00 10 10
m° B B &t: 2030 7T




